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(o) 3.If f hasalocal minimum at (ab) an f is differentiable at (a,b), then Nf (a,b) =0
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(o) 6.Thereexist xi [0,1] such that €* = Qetzdt.

(o) 7.Letf beatwo variablesreal function. If f is differentiable at ( X,,Yy, ), then f is continuous at ( X,,Y,)-
(o) 8.If f and g are continuous functionsin [a,b], and g(x) 3 0in[a,b], then there existsanumber cin [a,b] such

that (‘):f (x)g(X)dx = f(c)(‘):g(x)dx

¥ ¥ ¥
(x) 9lf series § a, and @ (-a,) areconvergent, then @ |a,| is also convergent.

n=1 n=1 n=1
o o
aa, afa)
o
a [a|
(x )10.An integrable function is always continuous. piecewisely continuous
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(E) 16.Supposethat z = f(x,y) is differentiablesuch that 1111_2:
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(B) 20.Let f(x)= X . Which of the following is incorrect?
10 x=0
(A)Function f is continuous at x = 0
(B)Function f is differentiableat x = 0
(C)Graph of f has a horizontal asymptotey =1
(D)Function f is continuous at x * 0

(E) Function f is concave down for X >E .
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(D) 21.Let f(X,y)=X*- Xy+Yy?- X+ Y. The absolute maximum of f on rectangle
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(A) 22.The maximum directional derivative of f (X, y) = X" - xy- g y? at point (1,- 1) is

(A5 (B)10 (C)15 (D)20 (E)25
f(x,y) =x?- xy- %yz
"f(x,y) =[2x- y,-x- 5y]

" 1(1-1)=[34]
V=T e
=5

(C) 23.If f isacontinuous function in [0,2], then qz f )i(fx()z ) dx =
X - X

™o ®3 (©1 <D)§ (E)2



SR {CNN
f(x)- f(2- x)
Xx=2-yb dx=-dy
_ o f(2-y)
'S0tz -ty Y
a2 -y a2 f2-x)
Qtz-y)-fiy) ~ t@-x)-f(x

I_\

p |+|:C‘%2 f(x) dx + 2 f(2- % X
f(x)- f(2- % f(2- X)- f(x
2f(x)- f(2- X)dXZ(‘):ldXZZ
f(x)- f(2- )
\ 1 =1
(B) 24.The Fibonacci sequence {f.} was defined by f,=1f,=1f =f , +f ., for
n=2 fn-11:n+1

(A0 (B)L (C)2 (D)g (E)%

fn=r"

r’=r+1

P r®-r-1=0

145 _1-45
2 2

y+BC J_)

Pr=

1+ f

f,=1f, —2
1 1
A=—B=-—
J5 +5

1 1+J_ 1- J5

mfn-E[( > - ( > "]

1 _ 1 i 1
fooaXna fodfn fdo,
1 & 1 1
\ a =al - ]
n=2fn-1xfn+1 n=2 f X f o

n-1""n n’ " 'n+l

\ o= A(

b

1 . 1 .

= - lim telescopin

£, %, n®¥fn_1>efn( ping )
L1

CEf, 1%

n3 3.

Then



(C) 25.The volume of the solids obtained by rotating the region bounded by the curves y=x and y=x? about
theliney = 2is
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